

Pay Estimate Created Date: November 18, 2024

Progress Es	stimate umber	Contract ID 2	40621-B03		Pay Period Start	November 2, 202	4 Original Contract Amou	unt \$6,691,391.83		
5	umber		apital Paving & Con LC	struction,	Pay Period End	November 15, 2024	Net Change Order Amount Current Contract Amou	\$0.00 Int \$6,691,391.83		
Approval Date								By User		
November 18, 2024			Generated and	Approved	I (and should be cons	sidered Draft) at th	ne Project Office Level by	vierss		
November 18, 2024			Reviewed and Appr	roved (and	should be considere	ed Draft) at the Re	sident Engineer Level by	vierss		
November 19, 2024				Reviewe	d and Approved at th	e Central Office C	ontrollers Office Level by	ramses1		
Original Completi	on Date	Current Co	ompletion Date	Actu	ual Completion Date	e % o	f Current Contract Amour	ount Complete		
October 1, 20	25	Octob	er 1, 2025				46.04%			
	Contra	ct Informational Da	ites		Mileston	ies				
Date Description	Origin	al Completion Date	Current Completi	on Date	No Milestones Exis	t for Contract				
Acceptance Date										
Awarded Date	July 10	), 2024	July 10, 2024							
Letting Date	June 2	1, 2024	June 21, 2024							
Notice to Proceed Date	e August	t 12, 2024	August 12, 2024							
Open to Traffic Date										
Work Began Date	Septer	nber 16, 2024	September 16, 202	24						
Contract Total Pay Fo	r Estimat	e No. 5								
			This Estimate		Previous		To Date			
240621-B03			\$44,424.50 \$42,657.00 \$0.00 \$0.00		\$3,035,967. (\$35,810.26 \$0.00 \$0.00		\$3,080,392.47 \$6,846.74 \$0.00 \$0.00			

	Liqui	dated Dama r Contract A		\$0.00 \$0.00 \$0.00	)0 )0 )00,157.7	l	1		
Contract Total	Payable This	s Estimate:		\$87,081.50					
tems Paid This	Estimate Pe	<u>riod</u>							
Project Number	Line Number	Item Code		Item Description		Un	t Unit Price	Current Installed Qty	Current Installed Amount
J2P3351	0230	6209901	MISC.OPTIC PAINT	ONAL TEMPORARY PAVEN	IENT MARKIN	NG LS	\$41,000.000	1	\$41,000.00
	0280	6261000A	BITUMINOU	JS SHOULDER RUMBLE ST	RIP	ST	\$11.250	304.4	\$3,424.50
Project J2P33	51 - Total								\$44,424.50
Overall - Total									\$44,424.50

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3351	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material			-6,483.05	\$94.50	(\$612,648.22)
	0050	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user burtoc4 overridding Payment Estimate Exception 1 on the current Payment Estimate.	6,483.05	\$94.50	\$612,648.22
	0060	TACK COAT	Material			-5,601	\$2.00	(\$11,202.00)
	0060	TACK COAT	Material		This adjustment offsets the original system-	5,601	\$2.00	\$11,202.00



### Pay Estimate Created Date: November 18, 2024

	Progr	ess Estimate Number	Contract ID	240621-B03		Pay Period Start November 2, 2024	-		\$6,691,391.83
	5		Prime Contractor	Capital Pavi LLC	ing & Constru	Pay Period End November 15, 2024	Net Change C Amount Current Conti		\$0.00 \$6,691,391.83
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3351						generated Material Payment Estimate Iter Adjustment (0003) due to user burtoc overridding Payment Estimate Exception 2 o the current Payment Estimate	4 n		
	0290	MC	GS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transactio			\$16,757.00
	0320		RASHWORTHY RMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transactio			\$25,900.00
JNE0121	0400	TAC	K COAT - NON- TRACKING	Material			-12,023	\$2.00	(\$24,046.00
	0400	TAC	K COAT - NON- TRACKING	Material		This adjustment offsets the original system generated Material Payment Estimate Iter Adjustment (0005) due to user burtoc overridding Payment Estimate Exception 3 o the current Payment Estimate	n 4 n	\$2.00	\$24,046.00
	0410	CONCRETE I	AND PLACING MATERIAL FOR TH PAVEMENT REPAIR	Material			-160	\$295.00	(\$47,200.00
	0410	CONCRETE I	AND PLACING MATERIAL FOR TH PAVEMENT REPAIR	Material		This adjustment offsets the original system generated Material Payment Estimate Iter Adjustment (0006) due to user burtoc overridding Payment Estimate Exception 4 o the current Payment Estimate	n 4 n	\$295.00	\$47,200.00
	0450	FU INSTALLATI	BAR (DRILLING, RNISHING AND ON) FOR FULL EMENT REPAIR	Material			-240	\$8.00	(\$1,920.00
	0450	FU INSTALLATI	BAR (DRILLING, RNISHING AND ON) FOR FULL EMENT REPAIR	Material		This adjustment offsets the original system generated Material Payment Estimate Iter Adjustment (0007) due to user burtoc overridding Payment Estimate Exception 5 o the current Payment Estimate	n 4 n	\$8.00	\$1,920.00
Total									\$42,657.00



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J2P3351	FAF 63-4(90)	Coldmill and Resurface	63	RANDOLPH	from 0.3 mile south of Route 24 at Moberly to the Boone County line						
JNE0121	FAF-24-2 (50)	Coldmill and Resurface	24	RANDOLPH	from the Chariton County line to 1.5 miles west of Route C near Huntsville						

### Totals by Job Numbers

3351	This Estimate	Previous	To Date
Posted Item Pay	\$44,424.50	\$1,020,850.46	\$1,065,274.96
Gross Item Adjustments	\$42,657.00	\$12,803.17	\$55,460.17
Gross Item Pay	\$87,081.50	\$1,033,653.63	\$1,120,735.13
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
E0121	This Estimate	Previous	To Date
Posted Item Pay	\$0.00	\$2,015,117.51	\$2,015,117.51
Gross Item Adjustments	\$0.00	(\$48,613.43)	(\$48,613.43)
Gross Item Pay	\$0.00	\$1,966,504.08	\$1,966,504.08
	\$0.00	\$0.00	\$0.00
Incentive			
Disincentive	\$0.00	\$0.00	\$0.00
	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3351, Item 4030103, Project Item Line Number 0050, Material Set 403010396, Material 0403SP125CLG - Superpave 12.5 mm, Des C Low Gyros, Acceptance Action Generic AspHigh is insufficient.	No Remark was entered by Engineer	burtoc4	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3351, Item 4071005, Project Item Line Number 0060, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	burtoc4	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0121, Item 4071007, Project Item Line Number 0400, Material Set 407100796, Material 1015EASS1VH - Emulsified Asphalt - Non-Tracking Tack, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	burtoc4	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0121, Item 6131010, Project Item Line Number 0410, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	burtoc4	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0121, Item 6131015, Project Item Line Number 0450, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	burtoc4	Overridden
Estimate Exception Type: Item Overrun: Contract 240621-B03, Contract Project J2P3351, Project Item Line Number 0070, Contract Line Item Number 0070, Item 6133020, Minor Item.	No Remark was entered by Engineer	burtoc4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-B03, Contract Project J2P3351, Project Item Line Number 0080, Contract Line Item Number 0080, Item 6133021, Minor Item.	No Remark was entered by Engineer	burtoc4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-B03, Contract Project JNE0121, Project Item Line Number 0380, Contract Line Item Number 0380, Item 4011231, Minor Item.	No Remark was entered by Engineer	burtoc4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-B03, Contract Project JNE0121, Project Item Line Number 0460, Contract Line Item Number 0460, Item 6133020, Minor Item.	No Remark was entered by Engineer	burtoc4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-B03, Contract Project JNE0121, Project Item Line Number 0470, Contract Line Item Number 0470, Item 6133021, Minor Item.	No Remark was entered by Engineer	burtoc4	Acknowledged

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities			ased on R	eport Generated date and can differ from the posted amo	ount at the t	ime the E	Estimate wa	s Genera	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240621-B03	J2P3351	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$7,500.00	\$0.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	22.00	0.00	22.00	100F	0.00	\$1,400.00	\$0.00
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	18.00	0.00	18.00	TONS	0.00	\$220.61	\$0.00
		0001	0040	4011232	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-2)	5,901.70	0.00	5,901.70	TONS	0.00	\$70.00	\$0.00
		0001	0050	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	31,129.20	0.00	31,129.20	TONS	6,483.05	\$94.50	\$612,648.22
		0001	0060	4071005	TACK COAT	33,655.00	0.00	33,655.00	GAL	5,601.00	\$2.00	\$11,202.00
		0001	0070	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	488.00	0.00	488.00	TONS	548.24	\$66.61	\$36,518.27
		0001	0080	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2,280.30	0.00	2,280.30	SQYD	2,309.45	\$97.43	\$225,009.71
		0001	0090	6161005	CONSTRUCTION SIGNS	2,082.00	0.00	2,082.00	SQFT	1,877.00	\$8.00	\$15,016.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	400.00	0.00	400.00	EA	400.00	\$20.00	\$8,000.00
		0001	0110	6161033	DIRECTIONAL INDICATOR BARRICADE	54.00	0.00	54.00	EA	54.00	\$125.00	\$6,750.00
		0001	0120	6161040	FLASHING ARROW PANEL	3.00	0.00	3.00	EA	3.00	\$1,000.00	\$3,000.00
		0001	0130	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,200.00	\$6,400.00
		0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$60,000.00	\$15,000.00
		0001	0150	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	172.00	0.00	172.00	LF	0.00	\$6.00	\$0.00
		0001	0160	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	33.00	0.00	33.00	LF	0.00	\$20.00	\$0.00
		0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	16.00	0.00	16.00	EA	0.00	\$280.00	\$0.00
		0001	0180	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	12.00	0.00	12.00	EA	0.00	\$75.00	\$0.00
		0001	0190	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,000.00	0.00	2,000.00	LF	0.00	\$0.20	\$0.00
		0001	0200	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	107,498.00	0.00	107,498.00	LF	0.00	\$0.27	\$0.00
		0001	0210	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	80,987.00	0.00	80,987.00	LF	0.00	\$0.27	\$0.00
		0001	0220	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,727.00	0.00	2,727.00	LF	0.00	\$1.00	\$0.00
		0001	0230	6209901	MISC.OPTIONAL TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	1.00	\$41,000.00	\$41,000.00
		0001	0240	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	271,336.00	0.00	271,336.00	SQYD	65,045.00	\$1.25	\$81,306.25
		0001	0250	6223010	DIAMOND GRINDING (CONCRETE PAVEMENT)	13,532.00	0.00	13,532.00	SQYD	0.00	\$4.15	\$0.00
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	14,466.00	0.00	14,466.00	SQYD	0.00	\$3.97	\$0.00
		0001	0270	6229905	MISC.Pavement Grooving	5,336.00	0.00	5,336.00	SQYD	0.00	\$5.05	\$0.00
		0001	0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,359.00	0.00	1,359.00	STA	304.40	\$11.25	\$3,424.50
		0010	0290	6061060	MGS GUARDRAIL	3,200.00	0.00	3,200.00	LF	0.00	\$28.00	\$0.00
		0010	0300	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	2.00	0.00	2.00	EA	0.00	\$3,900.00	\$0.00
		0010	0310	6061080	MGS END ANCHOR	8.00	0.00	8.00	EA	0.00	\$1,400.00	\$0.00
		0010	0320	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	14.00	0.00	14.00	EA	0.00	\$3,200.00	\$0.00
		0040	0330	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	21.00	0.00	21.00	EA	0.00	\$80.00	\$0.00
		0040	0340	9039902	MISC.REINSTALL EXISTING SIGNS	5.00	0.00	5.00	EA	0.00	\$900.00	\$0.00
				1		1.00	0.00	1.00		1.00	\$500.00	\$1,065,274.95
	JNE0121	0001	0350	2022010		1.00	0.00	1.00	LS	1.00	\$500.00	\$500.00
		0001	0360	3105002 3109910	GRAVEL (A) OR CRUSHED STONE (B) MISC.TYPE 1 AGGR. FOR SHOULDERS	194.00 5,245.00	0.00	194.00 5,245.00	TONS	194.00 3,453.50	\$118.84	\$23,054.96
		0001										
		0001	0380	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	987.10	0.00	987.10	TONS	1,022.65	\$74.76	\$76,453.31
		0001	0390	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX) TACK COAT - NON-TRACKING	15,578.30	0.00	15,578.30	TONS	15,405.10	\$94.50	\$1,455,781.95
		0001	0400	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL					12,023.00		
		0001			DEPTH PAVEMENT REPAIR	160.00	0.00	160.00	SQYD		\$295.00	\$47,200.00
		0001	0420	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	16.00	0.00	16.00	SQYD	0.00	\$1.00	\$0.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240621-B03	JNE0121	0001	0430	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	16.00	0.00	16.00	SQYD	0.00	\$1.00	\$0.00
		0001	0440	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	660.00	0.00	660.00	LF	548.00	\$13.25	\$7,261.00
		0001	0450	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	400.00	0.00	400.00	EA	240.00	\$8.00	\$1,920.00
		0001	0460	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	27.40	0.00	27.40	TONS	32.70	\$1,269.53	\$41,513.63
		0001	0470	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	128.00	0.00	128.00	SQYD	171.20	\$190.59	\$32,629.01
		0001	0480	6161005	CONSTRUCTION SIGNS	1,770.00	0.00	1,770.00	SQFT	1,242.00	\$8.00	\$9,936.00
		0001	0490	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	25.00	\$20.00	\$500.00
		0001	0500	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$40,000.00	\$40,000.00
		0001	0510	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	215.00	0.00	215.00	LF	0.00	\$6.00	\$0.00
		0001	0520	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	34.00	0.00	34.00	LF	0.00	\$25.00	\$0.00
		0001	0530	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	44,973.00	0.00	44,973.00	LF	0.00	\$0.20	\$0.00
		0001	0540	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	80,452.00	0.00	80,452.00	LF	0.00	\$0.27	\$0.00
		0001	0550	6209901	MISC.OPTIONAL TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	1.00	\$1.00	\$1.00
		0001	0560	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	129,389.00	0.00	129,389.00	SQYD	129,389.00	\$1.00	\$129,389.00
		0001	0570	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5,930.00	0.00	5,930.00	SQYD	5,930.00	\$2.75	\$16,307.50
		0001	0580	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	664.30	0.00	664.30	STA	664.30	\$11.25	\$7,473.38
		0001	0590	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	395.80	0.00	395.80	STA	395.80	\$11.25	\$4,452.75
		0040	0600	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	3.00	0.00	3.00	EA	0.00	\$100.00	\$0.00
		0040	0610	9039902	MISC.REINSTALLING EXISTING SIGNS	1.00	0.00	1.00	EA	0.00	\$900.00	\$0.00
	Project J	NE0121 - To	otal Value	Posted to D	Date as of Report Generated Date							\$2,015,117.49
240621-B03 Ove	erall - Total	Value Post	ed to Dat	e as of Repo	ort Generated Date							\$3,080,392.44



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2P3351

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0230	6209901	MISC. PAVEMENT MARKINGS	11/11/24	11/18/24	1.00		Southbound Highway 63 from Log Mile 84.169 to Log Mile 87.906 as well as the crossovers that were already paved.	84.169		99.302		
0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	11/7/24	11/18/24	132.10	STA	Highway 63 southbound driving lane.	84.169		87.906		
				11/18/24	172.30	STA	Highway 63 southbound passing lane	84.169		87.821		

The information below this line are details for Construction Signs (if applicable). No Data Available



Contract ID: 240621-B03

			1						
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3351	0050	ASPHALTIC CONCRETE MIXTURE PG	Material		4	Nov 1, 2024	SYSTEM	\$612,648.22	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user liebhd overridding Payment Estimate Exception 1 on the current Payment Estimate.
		70-22 (SP125C MIX)			4	Nov 1, 2024	SYSTEM	(\$612,648.22)	
					5	Nov 18, 2024	SYSTEM	\$612,648.22	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user burtoc4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$612,648.22)	
				- Total			1	\$0.00	
			Material - To	tal				\$0.00	
			Other Item Adjustment	ACAD	3	Oct 16, 2024	burtoc4	(\$12,544.70)	AC Adjustment for SP125 on mainline of 63
			,	ACAD - Tota	al			(\$12,544.70)	
			Other Item A	djustment - T				(\$12,544.70)	
			Price FUEL		3	Oct 16,	SYSTEM	(\$107.62)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			THEETOLL	- Total	5	2024	OTOTEM		
			Price FUEL -					(\$107.62)	
	0070		Price FUEL -	Total				(\$107.62)	
		Total				0.140	OVOTEN	(\$12,652.32)	
	0060	TACK COAT	Material		3	Oct 16, 2024	SYSTEM	\$11,202.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user burtoc4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Oct 16, 2024	SYSTEM	(\$11,202.00)	
					4	Nov 1, 2024	SYSTEM	\$11,202.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user liebhd overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Nov 1, 2024	SYSTEM	(\$11,202.00)	
					5	Nov 18, 2024	SYSTEM	\$11,202.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user burtoc4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$11,202.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0060 -	Total						\$0.00	
	0070	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Other Item Adjustment	ACAD	3	Oct 16, 2024	burtoc4	(\$1,060.84)	AC Adjustment for partial depth pavement repair material on 63.
		OL OT ANTIAL		ACAD - Tot	al			(\$1,060.84)	
			Other Item A	djustment - T	otal			(\$1,060.84)	
			Overrun	Overrun	3	Oct 16, 2024	SYSTEM	(\$4,012.59)	
				Overrun - T	otal			(\$4,012.59)	
			Overrun - To	tal				(\$4,012.59)	
	0070 -	Total						(\$5,073.43)	
	0080	REMOVAL FOR CLASS C	Overrun	Overrun	3	Oct 16, 2024	SYSTEM	(\$2,840.08)	
		PARTIAL DEPTH PAVT REPAIR		Overrun - T	otal			(\$2,840.08)	
			Overrun - To	tal				(\$2,840.08)	
	0080 -	Total						(\$2,840.08)	
	0130	CMS W/O COMMUNICATION INTERFACE,	Material		1	Sep 16, 2024	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user burtoc4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		CONT F/			1	Sep 16, 2024	SYSTEM	(\$6,400.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0130 -	Total						\$0.00	



Nov 20, 2024

Contract ID: 240621-B03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3351	0290	MGS GUARDRAIL	Construction Stockpile No Transaction		4	Nov 1, 2024	SYSTEM	\$24,491.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Туре	- Total				\$24,491.00	
			Construction	n Stockpile N	o Transac	tion Type	- Total	\$24,491.00	
			Construction Stockpile STMI		5	Nov 18, 2024	SYSTEM	\$16,757.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 TIMI	- Total				\$16,757.00	
			Construction	n Stockpile S	TMI - Tota			\$16,757.00	
	0290 -	Total				_		\$41,248.00	
	0300	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile No Transaction		4	Nov 1, 2024	SYSTEM	\$3,590.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Туре	- Total				\$3,590.00	
			Construction	n Stockpile N	o Transac	tion Type	- Total	\$3,590.00	
	0300 -	Total						\$3,590.00	
	0310	MGS END ANCHOR	Construction Stockpile No Transaction		4	Nov 1, 2024	SYSTEM	\$5,288.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Туре	- Total				\$5,288.00	
			Construction	n Stockpile N	o Transac	tion Type	- Total	\$5,288.00	
	0310 -	Total						\$5,288.00	
	0320	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI		5	Nov 18, 2024	SYSTEM	\$25,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				\$25,900.00	
			Construction	n Stockpile S	TMI - Tota			\$25,900.00	
	0320 -	· Total						\$25,900.00	
J2P3351 -								\$55,460.17	
JNE0121	0360	GRAVEL (A) OR CRUSHED STONE (B)	Material		3	Oct 16, 2024	SYSTEM	\$23,054.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user burtoc4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Oct 16, 2024	SYSTEM	(\$23,054.96)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		Total						\$0.00	
	0380	BIT. PAVEMENT MIXTURE PG58-28H (BP-1)	Other Item Adjustment	ACAD		Oct 1, 2024	burtoc4	(\$449.52)	AC Adjustment for Line 0380
					3	Oct 16, 2024	burtoc4	(\$1,209.22)	AC Adjustment for BP1 used on shoulders of 24.
				ACAD - Tot	al			(\$1,658.74)	
			Other Item A	djustment - T	otal			(\$1,658.74)	
			Overrun	Overrun	3	Oct 16, 2024	SYSTEM	(\$2,657.13)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$2,657.13)	
			Overrun - To	otal				(\$2,657.13)	
				-		<b>.</b>	SYSTEM		
			Price FUEL		2	Oct 1, 2024		\$16.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2 3		SYSTEM	(\$13.12)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Price FUEL	- Total		2024 Oct 16,		(\$13.12) \$3.08	
						2024 Oct 16,		(\$13.12) \$3.08 \$3.08	
		Total	Price FUEL		3	2024 Oct 16, 2024	SYSTEM	(\$13.12) \$3.08 \$3.08 (\$4,312.79)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	<b>0380</b> - 0390	ASPHALTIC CONCRETE MIXTURE PG	Price FUEL			2024 Oct 16,		(\$13.12) \$3.08 \$3.08	
		ASPHALTIC CONCRETE	Price FUEL		3	2024 Oct 16, 2024 Oct 1,	SYSTEM	(\$13.12) \$3.08 \$3.08 (\$4,312.79)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user burtoc4 overridding Payment
		ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C	Price FUEL		3	2024 Oct 16, 2024 Oct 1, 2024 Oct 1, 2024	SYSTEM	(\$13.12) \$3.08 \$3.08 (\$4,312.79) \$864,016.34	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user burtoc4 overridding Payment

9



Nov 20, 2024

Contract ID: 240621-B03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0121	0390	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP12SC MIX)	Other Item Adjustment	ACAD	2	Oct 1, 2024	burtoc4	(\$17,691.76)	AC Adjustment for Line 0390
					3	Oct 16, 2024	burtoc4	(\$12,117.11)	AC Adjustment on SP125 used on mainline, entrances and approaches on 24.
				ACAD - Total				(\$29,808.87)	
			Other Item Adjustment - Total					(\$29,808.87)	
			Price FUEL		2	Oct 1, 2024	SYSTEM	\$637.45	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Oct 16, 2024	SYSTEM	(\$103.95)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$533.50	
			Price FUEL - Total				\$533.50		
	0390 -	Total						(\$29,275.37)	
	0400	TACK COAT - NON-TRACKING	Material		2	Oct 1, 2024	SYSTEM	\$16,646.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user burtoc4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Oct 1, 2024	SYSTEM	(\$16,646.00)	
					3	Oct 16, 2024	SYSTEM	\$24,046.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user burtoc4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Oct 16, 2024	SYSTEM	(\$24,046.00)	
					4	Nov 1, 2024	SYSTEM	\$24,046.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user liebhd overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Nov 1, 2024	SYSTEM	(\$24,046.00)	
					5	Nov 18, 2024	SYSTEM	\$24,046.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user burtoc4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$24,046.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0400 -	400 - Total						\$0.00	
	0410	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		2	Oct 1, 2024	SYSTEM	\$47,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user burtoc4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					2	Oct 1, 2024	SYSTEM	(\$47,200.00)	
					3	Oct 16, 2024	SYSTEM	\$47,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user burtoc4 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Oct 16, 2024	SYSTEM	(\$47,200.00)	
					4	Nov 1, 2024	SYSTEM	\$47,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user liebhd overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Nov 1, 2024	SYSTEM	(\$47,200.00)	
					5	Nov 18, 2024	SYSTEM	\$47,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user burtoc4 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$47,200.00)	
				- Total	- Total			\$0.00	
			Material - Total					\$0.00	
	0410 - Total							\$0.00	
	0450	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		2	Oct 1, 2024	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user burtoc4 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Oct 1, 2024	SYSTEM	(\$1,920.00)	



Contract ID: 240621-B03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0121	0450	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		3	Oct 16, 2024	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user burtoc4 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	Oct 16, 2024	SYSTEM	(\$1,920.00)	
					4	Nov 1, 2024	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user liebhd overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Nov 1, 2024	SYSTEM	(\$1,920.00)	
					5	Nov 18, 2024	SYSTEM	\$1,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user burtoc4 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$1,920.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0450 - Total							\$0.00	
	0460	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Other Item Adjustment	ACAD	3	Oct 16, 2024	burtoc4	(\$63.27)	AC Adjustment for partial depth pavement repair material on 24. Material installed on 9-24 and not assessed on Estimate 0002.
				ACAD - Total				(\$63.27)	
			Other Item Adjustment - Total					(\$63.27)	
			Overrun	Overrun	2	Oct 1, 2024	SYSTEM	(\$6,728.51)	
				Overrun - Total				(\$6,728.51)	
			Overrun - Total					(\$6,728.51)	
	0460 - Total							(\$6,791.78)	
	0470	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	Overrun	Overrun	2	Oct 1, 2024	SYSTEM	(\$8,233.49)	
			Overrun - Total					(\$8,233.49)	
			Overrun - To	tal				(\$8,233.49)	
	0470 -	Total						(\$8,233.49)	
JNE0121 -	Total							(\$48,613.43)	
Overall - 1	Overall - Total								



There are no contract adjustments to display for this contract.